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Deep Bag of Frame (DBoF)

@ 30719l =2fQ, cluster size = 8192, hidden size = 1024.
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Mixture of expert(Moe)
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train
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train:Logistic

@ Logistic 2
@ 8gpu AtZ3st0{ 502 =2t 5 epoch 5.

@ 4096712 L}50{2l validation Cf|O|E{TtY = 1867H H7}.
MAP: 0.299 | Avg_Hit@1: 0.780 | Avyg_PERR: 0.633 |

[ Input Features [ Modeling Approach [ mAP [ Hit@1 | PERR |
Frame-level, {x{p } Logistic + Average (4.1.1) 1.0 | 50.8 422
Frame-level, {x{.r } Deep Bag of Frames (4.1.2) | 26.9 | 62.7 55.1
Frame-level, {x] . } LSTM (4.1.3) 26.6 | 64.5 57.3
Video-level, pt Hinge loss (4.3) 17.0 56.3 47.9
Video-level. p Logistic Regression (4.3) 28.1 60.5 53.0
Video-level, Mixture-of-2-Experts (4.3) 29.6 62.3 54.9
Video-level, [u; o Tops] | Mixture-of-2-Experts (4.3) | 30.0 | 63.3 55.8




train:DBOF

@ DBOF + Logistic 2

@ 1gpu AFHESH0] 14A|2H 59t 3 epoch &5

@ 4096712 L}50{2 validation G|O|&{ItY Z 18671 FH7t.
MAP: 0.350 | Avg_Hit@1: 0.813 | Avg_PERR: 0.670 |
GAP: 0.741

Input Features

Modeling Approach

mAP [ Hit@1 | PERR |

Frame-level, {x{ -, }
Frame-level, {x} - }
Frame-level, {x} ;- }

Logistic + Average (4.1.1)
Deep Bag of Frames (4.1.2)
LSTM (4.1.3)

Video-level, pt
Video-level,
Video-level,

Video-level, [u; o; Topy]

Hinge loss (4.3)

Logistic Regression (4.3)
Mixture-of-2-Experts (4.3)
Mixture-of-2-Experts (4.3)

11.0 50.8 42.2
26.9 62.7 55.1
26.6 64.5 57.3
17.0 56.3 47.9
28.1 60.5 53.0
29.6 62.3 54.9
30.0 63.3 55.8
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train:submission

2y \ GAP
(1st) WILLOW 0.84493
(benchmark) mean_rgb + mean_audio + Logistic | 0.74711
(AlZ) rgb + DBOF + Logistic 0.71214
(Al&) mean_rgb + Moe 0.70893
(benchmark) mean_rgb + Logistic 0.69360
(AM|&) mean_rgb + Logistic 0.69170
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train:LSTM

@ batch size 128, 1gpul [ Z & 407}, 8gpu M, Z & 200
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